NEPR

Received:

Jun 11, 2024

5:41 PM

# GOVERNMENT OF PUERTO RICO PUERTO RICO PUBLIC SERVICE REGULATORY BOARD PUERTO RICO ENERGY BUREAU

IN RE: REVIEW OF LUMA'S MODEL BILL

#### **CASE NO. NEPR-MI-2021-0008**

SUBJECT: Motion to Submit Corrected Exhibit 1 to Request Filed on June 3, 2024

# MOTION TO SUBMIT CORRECTED EXHIBIT 1 TO REQUEST FILED ON JUNE 3, 2024

#### TO THE HONORABLE PUERTO RICO ENERGY BUREAU:

**COME** now **LUMA Energy, LLC** and **LUMA Energy ServCo, LLC** (jointly referred to as "LUMA"), and respectfully submit and request the following:

1. On June 3, 2024, LUMA filed with the Puerto Rico Energy Bureau of the Public Service Regulatory Board ("Energy Bureau") a Request for Approval of Revision to Model Bill to Clarify Electric Vehicle Time of Use Charges, as Ordered by the Energy Bureau ("June 3rd Request") whereby it submitted, as an Exhibit 1 ("June 3rd Exhibit 1"), a rendering, in English and Spanish, of the Service and Meter Information and Current Charges Detail sections of the third logical page of LUMA's Model Bill, with certain revisions relating to the Electric Vehicle Time of Use (EV-TOU) Charges to comply with the Energy Bureau's Resolution and Order of May 22, 2024, in Docket No. NEPR-MI-2021-0013, In Re: Electric Vehicle Charging Infrastructure Deployment ("EV Docket"). LUMA also requested that the Energy Bureau approve and authorize LUMA to implement the proposed changes to its Model Bill as shown in the June 3rd Exhibit 1.

2. LUMA has realized that there was an inadvertent error in the Subtotal of the Reconciliation Clauses in the Current Charges Detail in the June 3<sup>rd</sup> Exhibit 1, which also affected the Total of the bill. LUMA is submitting herein a revised version of the June 3<sup>rd</sup> Exhibit 1 with the corrected amounts for the Subtotal and Total. *See Exhibit A*. No additional changes were made to the June 3<sup>rd</sup> Exhibit 1. LUMA respectfully requests that the Energy Bureau substitute the June 3<sup>rd</sup> Exhibit 1 with the attached *Exhibit A* and proceed to approve this revised version of the Model Bill in accordance with the June 3<sup>rd</sup> Request.

**WHEREFORE,** LUMA respectfully requests that the Energy Bureau **take notice** of the aforementioned, **accept** *Exhibit A* included with this Motion in substitution of Exhibit 1 in the June 3<sup>rd</sup> Request, and proceed to **approve** this revised version of the Model Bill in accordance with the June 3<sup>rd</sup> Request.

#### RESPECTFULLY SUBMITTED.

In San Juan, Puerto Rico, this 11th day of June 2024.

We hereby certify that we filed this Motion using the electronic filing system of this Energy Bureau. We will send an electronic copy of this Motion to General Counsel for PREPA, Lionel Santa, lionel.santa@prepa.pr.gov and PREPA outside counsel arivera@gmlex.net and mvalle@gmlex.net and to the Independent Consumer Protection Office, through Director Hannia Rivera, hrivera@jrsp.pr.gov.



**DLA Piper (Puerto Rico) LLC** 500 Calle de la Tanca, Suite 401 San Juan, PR 00901-1969 Tel. 787-945-9107 Fax 939-697-6147

/s/ Laura T. Rozas Laura T. Rozas RUA Núm. 10398 laura.rozas@us.dlapiper.com

# Exhibit A

Corrected June 3<sup>rd</sup> Exhibit 1

### SERVICE AND METER INFORMATION

Service Address:				_	Premises ID:		
Rate: General Resider	ntial Service	Period: Jan-13-2024 to Feb-13-2024 Next Read:			d:		
Meter	Read	Current	Previous	Previous	Consumption		e
Number	Date	Read	Read Date	Read	kWh	Days	Constant
2431116	13-Feb	491.50 A	13-jan	429.00	625.00	31	10

CUR	RENT CHARGES DETAIL	
DESCRIPTION	TARIFF	CHARGE
Service Charges		
Customer Charge		\$4.00
Consumption Charge	425 kWh x \$0.04944	\$21.0
Additional Consumption Charge	200 kWh x \$0.05564	\$11.1
Sub-Total		\$36.1
EV TOU Charges		
On Peak	50 kWh x \$0.12988	\$6.49
Shoulder Peak	30 kWh x \$0.110912	\$3.33
Off Peak	20 kWh x \$0.06488	\$1.30
Sub-Total		\$11.12
Reconciliation Clauses		
Rider FCA-Fuel Charge Adj	525 kWh x \$0.110912	\$58.23
Rider PPCA-Purchased Power Charge Adj	625 kWh x \$0.039406	\$24.6
Rider CILTA-Municipalities Adj	625 kWh x \$0.007049	\$4.4
Rider SUBA-Subsidies, Public Light & other Subv HH	625 kWh x \$0.013717	\$8.5
Rider SUBA-Subsidies, Public Light & other Subv NHH	625 kWh x \$0.001042	\$0.6
Rider EE-Energy Efficiency Charge	625 kWh x \$0.00	\$0.00
Sub-Total		\$96.4
Total		<b>\$1</b> 43.75



## INFORMACIÓN DEL MEDIDOR Y DEL SERVICIO

rección del servicio:					ID localidad:		
ifa: Servicio Resid	lencial General	Periodo: 9-er	ne-2024 a 7-feb-2024	7-feb-2024 Próxima I			ectura:
Número de	Fecha de	Lectura	Fecha de	Lectura	Consumo		<b>5</b>
contador	lectura	actual	lectura anterior	anterior	kWh Dias	Dias	Constante
99144381	7-feb	491.50 L	9-ene	429.00	625.00	29	10

DETALLE DE LOS CARGOS CORRIENTES						
DETALLE DE LOS CARGOS CORRIENTES						
DESCRIPCIÓN	TARIFA	CARGO				
Cargos por Servicio						
Cargo por Cliente		\$4.00				
Cargo por Consumo	425 kWh x \$0.04944	\$21.01				
Cargo por Consumo Adicional	200 kWh x \$0.05564	\$11.13				
Subtotal		\$36.14				
Cargos EV TOU						
Carga Energetica en Horas Pico	50 kWh x \$0.12988	\$6.49				
Carga Energética en Horas Intermedio	30 kWh x \$0.11091	\$3.33				
Carga Energética en Horas No Pico	20 kWh x \$0.06488	\$1.30				
Subtotal		\$11.12				
Cláusulas de Reconciliación						
Cláusula FCA-Ajuste Cargo de Combustible	525 kWh x \$0.110912	\$58.23				
Cláusula PPCA-Ajuste por Compra de Energia	625 kWh x \$0.039406	\$24.63				
Cláusula CILTA-CELI (Municipios)	625 kWh x \$0.007049	\$4.41				
Cláusula SUBA-Subsidios HH	625 kWh x \$0.013717	\$8.57				
Cláusula SUBA-Subsidios NHH	625 kWh x \$0.001042	\$0.65				
Clausula EE-Cargo Eficiencia Energetica	625 kWh x \$0.00	\$0.00				
Subtotal		\$96.49				
Total		<b>\$14</b> 3.75				

